

$$\begin{aligned}
& ((\overline{K} \vee L) \wedge (\overline{M} \vee \overline{N}) \rightarrow K) \wedge \overline{\overline{L} \vee M} = 1 \\
& \overline{((\overline{K} \vee L) \wedge (\overline{M} \vee \overline{N}) \vee K) \wedge L \wedge \overline{M}} = 1 \\
& \overline{((\overline{K} \vee L) \vee (\overline{M} \vee \overline{N}) \vee K) \wedge L \wedge \overline{M}} = 1 \\
& ((K \wedge \overline{L}) \vee (M \wedge N) \vee K) \wedge L \wedge \overline{M} = 1 \\
& ((M \wedge N) \vee K) \wedge L \wedge \overline{M} = 1 \\
& K \wedge L \wedge \overline{M} = 1
\end{aligned}$$